
EV
 97

R 
PO

W
ER

ZO
NE

 41
0 

CO
NT

RO
LL

ER

4/3
0/2

2
-A
-

D2
.2L

 G
22

DW
G.

 N
O.

RE
V

TI
TL

E

DW
N

DA
TE

Da
te

Ch
an

ge
 N

o.
GR

OU
P 

A
FI

RS
T 

US
E

AL
L 

AP
PR

OV
AL

S 
EL

EC
TR

ON
IC

AL
LY

 S
TO

RE
D 

IN
SI

DE
 W

IN
DC

HI
LL

SH
EE

T 
1 O

F 
1

TL
D

4/3
0/2

2
A0

00
25
36
09
8

A

IT
E
M

PA
R
T

Q
T
Y
.

D
E
SC

R
IP
T
IO

N

Pa
ge

 1 
of

 2 
Re

vis
io

n 
: -

A-
 

Da
te

 : 
4/3

0/2
2

Ex
pl

od
ed

 V
iew

 : 
EV

 97
R 

PO
W

ER
ZO

NE
 41

0 C
ON

TR
OL

LE
R

Dr
aw

in
g 

No
. :

 A
00

02
53

60
98

G
R

O
U

P 
A

1

5

3

3 2

6
2

7

8

4

4



EXPLODED VIEW: EV 97R POWERZONE 410 CONTROLLER 

DRAWING #: A0002536098  GROUP A 

  
ITEM PART# QTY. DESCRIPTION 

REVISION: -A-  Page 2 of 2 
DATE: 4/30/2022 

 1 G047411 4 SCREW HHC M6-1.0 X 16 C8.8 

 2 G022097 8 WASHER LOCK SPRING 1/4 ZC 

 3 G022473 8 WASHER FLAT 1/4-M6 STEEL ZINC 

 4 A0002517040 2 SUPPORT BRACKET FOR ANNUNCIATOR 

 5 G042568 4 SCREW HHC M6-1.0 X 20 C8.8 

 6 A0000660367 1 ASSEMBLY, DUALITY CONTROLLER 

 (1)7 A0000673264 1 ASSEMBLY NFPA, DUALITY 

 (1)8 G075475 4 SCREW PPHM M4-0.7 X 10  

 

NOTES (UNLESS OTHERWISE SPECIFIED): 
(1) ITEM ONLY INCLUDED FOR CONTROLLER W/NFPA MODULE.  

 


